
�
2 � The Electric Potential( ��� )

2.1 Line Integral of the Electric Field ( �����
	���
 )

E =
1

4πε0

q

r2
r̂ (1)

��������������������� �! ����!"�#�$�%'&
( � �)$+*+,�-/.�0
1�2���354�6 C 7�8:9; �5<>=?	���
 ��@BA $+*>,?C
∮

C

E · ds = 0 (2)

P1 -D. P2 E $������B�?	���
��?F �)G�H �?I�J�7 �LK .NM�O�P P1 QSR P P2 ��T!$!U
E ,?C

∫ P2

P1

E · ds =
q

4πε0
(
1

r1
− 1

r2
) (2.1)

QWV ,?C�X�XY$ r1 0 r2 ��Z�[]\�[ P1 Q P2 �
^�P�-_.��?`�a:$+*>,?Cb�c!d�e�f �
^�gh7 KBi 0�j � V  ���
�k��
lm,Yn]��� E 75o�p ; �
∫ P2

P1

E · ds �
F �5GBH �qI�Jh7 �LK .rM�O�P P1 QsR P P2 �!T�$�U E , (2.4)

E (
∮

C=∂S

E · ds =

∫

S

curlE · da = 0 (3)

$h*h,)C�X:X�$ C 7:t�uL,qv'wmxzyBt){B��<+=)	:��
 � C
�q| Q uB,�} S( X [~���+�

C = ∂S $��>u ) �]$h��X?��vmw�xzy�t5{���=?� (curl 0 � p/� � rot) �?}��:
h7)�Bp�9
Q 9�� Stokes �
��g ��� &
(�C
n]���h7�8�9 ; � ��� �W� 
��:$��'���+p ;

curlE = 0 (4)
� V i (!8BX Q � e -�,?C

2.2 Potential Difference and the Potential Function ( ����� Q ��� )
P1 -�. P2 E $>�5�)����	���
+��F �?G�H �qI�J+7 ��K .sM�O�P P1 Q�R P P2 �!T5$�U E
,)���:�!��#�$+*>,)�5$mX [�� −φ21 Q �h�h,?C�8 E i

φ21 = −
∫ P2

P1

E · ds (2.6)

Q �h�h,?C�X [ � P2 Q P1 �)����� φ21 �q����$+*>,?C
�������q��� � [V] $>* i 0 1[C·V] = 1[J] $+*>,?C
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� 7����:P O
��� ��p ;��
	 (����:��������t5{ φ

� �!� Q 9 �zC�X�XW$ r
� 1�2��5P

P �?���:v�wLx y�$+*>,5C
φ(r) = −

∫ P

O

E · ds (5)

�
��P O
� ^�P�$+*>,��
� � V 9�C O �?���:v�wLx y � r0 Q � � Q

φ(r0) = 0 (6)

�
O �
����$+*>,?C

^�P>7�*+,WP:�� q �ql~,q�����!�
1�2��5P P(r) �)��� �

φ(r) = −
∫ P

O

E · ds = −
∫ r

r0

1

4πε0

q

r′2
dr′

=
q

4πε0
(
1

r
− 1

r0
) (7)

$>*+,?C
�
��P O

������� 7 Q i r0 →∞ Q u�, Q
φ(r) = φ(r) =

1

4πε0

q

r
(8)

QWV ,?C

2.3 & 2.4 Graqdient of a Scalar Function, Derivation of the Field from the Potential

( ���h����� Q ��� )
2 P r = (x, y, z) Q r′ = (x′, y′, z′) �)����� �

φ(r′)− φ(r) = −
∫ r′

r
E · ds (9)

$+*>, � 0�X?� 2 P ��� ������$ r′ = r + dr = (x + dx, y + dy, z + dz) �
� d 0 �� �
��� dφ(r) = φ(r + dr)− φ(r)

�

dφ(r) = −
∫ r+dr
r E · ds

= −E · dr (2.12)

Q �h�h,)�5$
dφ(r) = −Exdx− Eydy − Ezdz (10)
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����� u�,?CK & ;










Ex(x, y, z) = −∂φ(x,y,z)
∂x

Ey(x, y, z) = −∂φ(x,y,z)
∂y

Ez(x, y, z) = −∂φ(x,y,z)
∂z

(11)

Q ���:�!��t?{�$+*>,�������� � 
 Q p ; ����� � 
 � �'���	� [ ,?C
� 
�
���
������ ( E ( ��� y )∇ �

∇ = x̂
∂

∂x
+ ŷ

∂

∂y
+ ẑ

∂

∂z
(2.10)

Q �h�h, Q 0���� � ��� KBi
E(r) = −∇φ(r) (2.13)

Q�� ��$���,:X Q 7 V ,?C
∇φ
�
φ ����� Q 9�9�0�X [��W�]� gradφ(gradient 0��>� ������� x ) Q � � C

2 ���!$ � 	 , Q��� "! � �$#:$�g�%:$�� K � C
�:�:���!t?{ z = f(x, y)

��&�A(' xNp�( Q � FIGURE 2.4(a) � K ��7 V &
( Q p K �zC
� � grad f(x, y) = (∂f

∂x
, ∂f
∂y
)
�
2 ����vLwBx y:$>* i 0 x � 
 ��) { y

��� �Bp�( Q �?� z

� )�*,+ 0 y � 
 � x
� � �Bp!( Q �5� z � )�*,+ $+*>,?C�X [�� x− y }+7�-�.�p!(���

(b) /�$+*>,5C�vmwLx y grad φ(x, y)
� � 	�; 9h,�P (x, y) $h��0q}��21]vmw�x y�$h*

,qC Z ��3L��� ��4 �
�25 d 9 �76 p�098�� ��: 3 4,;�< 8q$]*],
C (a) /�� (x1, y1) P�$
� : 3 4�;"< 8 ��ZW[L�7= .�p�( (b) /��?o,>�u�,�vLwBx y���8]� ��? , Q x

< 8q-_.A@K5Z
80◦ � < 8?$+*>,:X Q � e -L,?C

������}
P r ������� < 8 Q ��B:u�,C8>�5� dr

� � 	 ( Q �
E · dr = 0 (12)

D -_.�0�X?��EGF�1>u�, 2 P �

φ(r + dr) = φ(r) (13)

�7H (�p ; 9>,Y-'.��hp)9)�)��$]*�,
C 3 ���,I�J
�q$����)�+����K �AL�M$N } � U E i 0
X [~� �>�!�:} Q 9 �zC K & ; �>�!�:}���1:	 � 8 c 7��!� Q ��B�p ; 9�,�X Q � e -
,?C
2 8��5�) � y O!�>7
`!a a

D �qa [ ; ��- [ ; 9],qCN^�P]7�*�,AP��) � 2q 0 (0, a, 0) 7
*�,��) ��Q $ −q �?�)"�# Q u+,qC �)� � @�A Q V ,?� � �
� � �SR>7 H�T � (0, 4a, 0) 0UCV

2a/
√
3 �?������W�}���$>*+,?C
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FIGURE 2.7
�
a = 3cm �
� d ����� ��� 9�(�/�$>*+,?C

2.5 Potential of a Charge Distribution ( ���� ���
�kh7 K ,�������� �
	�� y )

� / FIGURE 2.6 � K � V�
�� 7)�5 ��� 5 ρ $
������7

�k�p ; 9], Q ��0SP (x′, y′, z′)
$ �
	 . [ ,���� dx′dy′dz′ � �  � < � H 7 �)�� ��"�# ρ(x′, y′, z′)dx′dy′dz′ �)�! ���� p ; 9h,)�5$>0���� H �?P (x, y, z) 7 �

dφ(x, y, z) =
1

4πε0

ρ(x′, y′, z′)dx′dy′dz′
√

(x− x′)2 + (y − y′)2 + (z − z′)2
(14)

V , �� ���:$!� � [ , �� V ��� � lD. [ ; 9+,?C
���: ���
�k � P (x, y, z) 7?l~,q����7)o�u�,q��� φ(x, y, z)

�
(14) � ��� ; �)�! +7 e

(�& ; b�c!d:e�f [�N�� . [ ,?C
φ(x, y, z) =

1

4πε0

∫

( ��� �"!$#&%('*) )
ρ(x′, y′, z′)dx′dy′dz′

√

(x− x′)2 + (y − y′)2 + (z − z′)2
(2.15)

X?���:�:���!t?{ φ(x, y, z) ��� � gradρ(x, y, z)
� � �+u [�N ��� E(x, y, z)

��+ �m. [
,?C
( D p�0 (2.15) ��� � �L� ���h� �
�>7 Q & ; 9+,�X Q 7�,�2 f K C ��� 7.- � & ; 9+,
�� �
�kh7)o�p ; �)� 	 V 9�C
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Potential of a Long Charged Wire ( ��	� ���
�k��
lm,q��� )
��	 (

��� 7���� ; 9h, ) �+7?	 � 5 λ $��� ����� 75
!kLp ; 9+,���� � � 1 � 12 $ +
� ; 9h,?C L��>� ��	�-_. r �
`�a D �5a [ ; 9+,�P�$+�������93���� �

Er =
λ

2πε0r
(15)

$>* i 0 < 8 � �)	 �!H2T Q u�,
	 � ��	 Q ��B�u�, }��+7 � 9�( Q �
0�	5�
� V < 8 r̂

Q
� � < 8 (λ > 0) *>,59 ��� 8>� (λ < 0) $>*+,?C
���h� ����P � P1 Q u�,?C�X [L��� ��� 7 Q ,:X Q � $�� V 9�C����h�
���h7����>9 ;
1�2��?P P ����� � + � ; T+,5C P � ��	:-_. r

D �?a [ ; 9h, � � Q u�,?C
φP = −

∫ P

P1

E · ds = −
∫ r

r1

λ

2πε0r
dr = − λ

2πε0
lnr +

λ

2πε0
lnr1 (2.16)

QWV ,:X Q � e -�,?C���
E = −∇φ = −r̂

dφ

dr
=

λ

2πε0r
r̂ (16)

Q�� ��$���,?C

���
The Potential and Field of a Dipole ( ��"
����
 )

��"
����
��ql~,����
/:� K ��7 P Q � o+�5P:�� q Q −q � s/2 Q −s/2 7�*+,?C�X?��P Q �� �o � ��"
���

 Q K ��� p = qs V ,qvmwLxzy � �!"
�
��
��>� � � x vmw�x y Q 9 �"!���"�����
:-
.$#)
!a [ ( ��< �
P P $>�5��� � + ��0 Z p ; s Q −→OP $�� E ,&%�}��:$]���
')( � 

$���� � � �Lp K � C
r =
−→
OP Q @ � Q ��P P $>����� φ(r)

�

φ(r) =
q

4πε0
[

1

|r − s/2| −
1

|r + s/2| ]

$
* 	 . [ ,?C
pq-�p���P P

� #�
 �"< (r À s)
D -_.,+��>��-/.�0�� ��� �WX Q �2143 ,?C

1

|r ∓ s/2| =
1

√

r2 ∓ rs cos θ + s2/4
=
1

r
(1± s

2r
cos θ + · · · )

X�XY$>0�/:� K � 7 s Q r � V u65 � θ Q p)CK & ; #�
 �"< $+�
��� �
	�� y �

φ(r) =
1

4πε0

qs cos θ

r2
=

1

4πε0

p · r̂
r2

(10.11)
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X [ � ��"
����
��]� � � xS�ql~,q����$+*>,?C
�)� � E = −∇φ $ � �:$L��,
C %�} ��')(�� 6 $>� � 
 � Er = −∂φ

∂r
@ K � Eθ = − ∂φ

r∂θ$
* 	 . [ , (2 ���6��' (B� ����� y��	��
 CK & ;
{

Er =
p
4πε0

2 cos θ
r3

Eθ =
p
4πε0

sin θ
r3

���	
 �:� ����� y]$+� M ( P
� 0��>� � H �
��������*�( i ����"
�
��
��]� � � x

Q ��� � [ ; 9h,?C���� � 5 D
�

D = ε0E + P = εE (10.54)

Q 9�� ��� ����� u�,?C
�]� �����]� + ε

����� 7 K & ;�� V ,YF ��� 8 � 0 ��I>���]� +�KLi 3��
9�C

2.6 Uniformly Charged Disk (
�6�"! � 	$#��ql~,���� )

UCV
a[m] 0?} � 5 σ[C/m2] � �6� V 	$# � FIGURE 2.8 � K ��7�*>,5C

(1) 	$#�� H�TB��% i 0 	$# Q ��B:u�, y O����5P P1(0, y, 0) ���!� � + � K �zC�X�XW$�����L� ����� �
� Q u�,?C	&#!�+� U�V s Q s+ds � 2 8�� � T 	Y$ � � E [ ( �  
�� 7 �
�� �) dq = σ ·2πsds� ��� p�0 P1 E $+�
`�a r
�
r =

√

y2 + s2 $+*>,?C K & ; dq
�

P1 7!8 � ,q��� dφ
�

dφ =
1

4πε0

dq

r
=

σ · sds
2ε0
√

y2 + s2
(17)
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$>*+,?C 	$#����)�� ]u M ; ����* � b�c�d�e�f ; 0 + �+,q��� φ
�

φ =

∫ a

0

σ · sds
2ε0
√

y2 + s2
=

σ

2ε0
[
√

y2 + a2 − |y|] (2.20,2.21)

Q �'��� f ,?C�X?�)��� Q `�a y ��t�� � / 6 u�, Q FIGURE 2.9 � K ��7 V ,?C��� V ��K:$+�)��� � + �+, Q
φ(0, 0, 0) = σa

2ε0

φ(0, y, 0) = 1
4πε0

σπa2

y
y À a 7)o�p ; (2.23)

Q V & ; 9>,
C��	� � [ , K � 7 ��< -�. 	 # � T>, Q � �� � H�T 7�*],YP��� +�5�)�
Q �Bp/� V & ; 9h,?C
����-_. ��� � + �h, Q 0 ������� y

� 
h��T ��
 2�$

Ey = −
∂φ

∂y
=







σ
2ε0
(1− y√

y2+a2
) (y > 0)

σ
2ε0
(1 + y√

y2+a2
) (y < 0)

(2.26)

QWV ,?C
(2) 	 #�� | �)P P2 ���!� � + � K � C FIGURE 2.10 � K �s7 P2

�
� P Q uB,q� V Q
V u�5 � θ Q 5 θ+ dθ � 2 8:����$�� E [ ,���� � � 	 ,
C��h��� � � R Q uh,
C 2 8:�
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���:$ P2 -_.s`�a r @ K � r + dr � U9V ���+7 KBi���� . [ ( �
 ��	� ���h7�*>, �
 
��"�# dq = σrdθdr

�
P2 7?lm,q��� dφ

�

dφ =
σrdθdr

4πε0r
=
σdθdr

4πε0
(18)

$>*+,?CK & ; 	$# � ������ �� b:c!d:e:f � L�� 7 K , P2 ����� � 0 ≤ r ≤ R = 2a cos θ @ K
� −π/2 ≤ θ ≤ π/2 ��
 ��$���
Bp ;

φ =
σ

4πε0

∫ π/2

−π/2

dθ

∫ 2a cos θ

0

dr =
σa

πε0
(2.24)

QWV ,:X Q � e -�,?C
φ(P2) =

σa

πε0
< φ(0, 0, 0) =

σa

2ε0
(19)

$>*+,W-_.�0/	$#�� |_KBirH2T �
� � � ��� ��� 9�X Q � e -�,?C

2.7 Divergence of a Vector Function ( v�wLx y�t?{������ )

FIGURE 2.12a 7 6 p�( K � V I�J ��7 ��� V � 
�� � � 	 0 Z �?��} � S Q �'X��zC
vmwLx yht?{ F �?} S ���?}���
 Φ

� ��� K � 7 � 	 ,?C

Φ =

∮

S

F · da (2.29)
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FIGURE 2.12b � K �s7 V
�
V1 Q V2 7)
�� K � C Zq[+\�[ � 
�� �5��} � S1 Q S2 Q

p�0�X [ .�������} � D Q u�,?C Φ � ��� K ��7?�~����uBX Q � $m�!,5C

Φ =

∮

S1

F · da1 +
∮

S2

F · da2 (2.30)

 ��hV . D ���
}���
 � da1 Q da2 ����	 < 8 � � 7 V i }���
���� ��	 ��
 p!*D� -
.N$>*+,?C
X
�?
�% �  = �
��� p FIGURE 2.12c � K � 7 V

�
V1, · · · , VN 75
+�+,?C�����
h�
�

} � S1, · · · , SN Q p ; �

N
∑

i=1

∮

Si

F · dai =

∮

S

F · da = Φ (2.31)

����� p ; 9�,)C�X5�5
:% � ��� ;�� � Q ∮Si
F · dai → 0 ->8 Vi → 0 Q�V ,)C]p?-Bp� � 
 � 7�� E i � ,5C Z XW$>0CI"J:����P�$ ��� � �
� � F � vmw�x y�t?{ F �����

(divergence,
�]�

div) Q ���>u�,?C

divF = lim
Vi→0

1

Vi

∮

Si

F · dai (2.34)

X
��� � � ��� Q � � � 
�%�� < ��7�� � p V 9�X Q ��� �Lp ; @ � C���  ����� 
�� -_. 1 , ���q��������*�( i �
F � divF $+*>,?C

2.8 Gauss’s Theorem and the Differential Form of Gauss’s Law (Gauss �q��g Q Gauss ������� � 
�� )
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Gauss �
��g

∮

S

F · da = lim
N→∞

N
∑

i=1

∮

Si

F · dai = lim
N→∞

N
∑

i=1

Vi[

∮

Si
F · dai

Vi
] =

∫

V

divF dv (2.35)

KBi
∮

S=∂V

F · da =

∫

V

divF dv (2.36)

����� u�,?C�X [�� Gauss �q��g Q 9 � C
Gauss �����

∮

S=∂V

E · da =

∫

V

ρ

ε0
dv (2.37)

��� � 7?{ ! � Gauss �
��g ��� 9h, Q
∮

S=∂V

E · da =

∫

V

divEdv (2.38)

QWV ,)�5$>0 Gauss �����h�
��
�� KLi

divE(r) =
ρ(r)

ε0
(2.39)

� 0�I�J�����P�$ �,� u�,qC:X [ � Gauss � � �+� � 
���$]* i 0W�� � 5 Q �5�����CK
��t�� ����M��	�	
���
������������	�����������

2.9 The Divergence in Cartesian Coordinates (  "! ��#%$�&('*)�+�,"- )

3 .�/ #%$�&('*)�+"+�-��10
F (r) = (Fx(x, y, z), Fy(x, y, z), Fz(x, y, z)) (20)

243"5 �"687%'9&;:�<�=","-?>A@B���
.�C FIGURE 2.13(a)

��-1DFE%GIH�J�K�LNM	OQPSRNTNU%V�W�XQ���Y������Z�[
(x, y, z) \]�^�_N` ��a?>	V

∆x
^
∆y
^
∆z
2 DQ���Qb���J�K�T"U���O"c�0

Vi = ∆x∆y∆z
�������

LNMdO;�
6
���Se"f�g;��h�i�jAk"l��Nm�6n7Q'o& 2 6%7F'p&;:�<��"P�c�q _?r �SJ�K�eNfgNcnV \�s	t�u V 2�v�wQx ��= (14)

�
Gauss

��y"zQ��{ ` ��gNc 5 ��|nV�� w XQ����ef�0YJ�K������ \ ] 6n7%'9&;:�<Q��|%V _ g;��}�~"��y;� t E��"�
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b��;EFG q � t W�X�� 2 ^�� X�� C (b)
�;EFGIH��	�	g;��c 5�
 �
����0��"g���h�i1jAkl���m�0

ẑ
^ ��g;��hQi�j k�l���m�687%'o&;0

−ẑ
�����d�Y�

∫

��������� F ·da = Fz(x+
∆x

2
, y+

∆y

2
, z+∆z)∆x∆y−Fz(x+

∆x

2
, y+

∆y

2
, z)∆x∆y (21)

��������� ` 0������ �"!$#�qQE&%
� `

=
∂Fz(x, y, z)

∂z
∆x∆y∆z =

∂Fz(x, y, z)

∂z
Vi (22)

2('�) �njN���
�*��g�+"h���,�g�qN��� t x�-�. qYW�XQ� 2

∮

/10�2 � F · da = Fz[
∂Fx(x, y, z)

∂x
+
∂Fy(x, y, z)

∂y
+
∂Fz(x, y, z)

∂z
]Vi (23)

2 H;���
(12)

�  "! ��y�3;qFE&% ^ #%$�& ' )�+�,"-���� divF
=

divF = lim
Vi→0

1

Vi

∮

Si

F · dai =
∂Fx(x, y, z)

∂x
+
∂Fy(x, y, z)

∂y
+
∂Fz(x, y, z)

∂z
(24)

2(4 j5� 6%��b 2 =�7 \ v�w ��b��"8�9�0�J�K�T"U���f�:;qQE ] H"��b 2�x -�6%�d�Y� ^�<;�q
divF =

∂Fx(x, y, z)

∂x
+
∂Fy(x, y, z)

∂y
+
∂Fz(x, y, z)

∂z
= ∇ · F (2.44)

=;H=% w ����� ` �
>�?Q��,�@;qN0 ^�A q�y�3 � wCB�D �FE*G
∇ = x̂

∂

∂x
+ ŷ

∂

∂y
+ ẑ

∂

∂z
(2.10,2.52)

V
H1� w �
I*J qSa���K�L

a
�	MON�="� .�P�Q<R<S

ρ
��T P � t ��� 2 jS� �CU V W�X��S� A q Gauss�S�����Sc 5 f���V w�W % ^ MXN;��PSh�� PCY 0�Z 2 L [�D��5KCL�M�i 3N5 � \ H]\ ^C^�C_nj">�0

E =

{

ρa2

2ε0r
(r > a

qC` � t )
ρr
2ε0

(r < a
qC` � t ) (2.45)

��� v�w �

FIGURE 2.17
qaMbNF��cdg

(
MbNF��d�e t ����M;i�V z

Z�M;i 2 � t ��� ) VS- � w = ^f [ \ ] �
g�h�= r
����� \ ] r =

√

x2 + y2
������� P�Y �

x
3"5 ^

y
3"5 0 ^ @*i	@

Ex = x
r
E =

{

ρa2x
2ε0(x2+y2)

(r > a
qC` � t )

ρx
2ε0

(r < a
qC` � t )

Ey = y
r
E =

{

ρa2y
2ε0(x2+y2)

(r > a
qC` � t )

ρy
2ε0

(r < a
qC` � t )

Ez = 0

(2.46)
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L��
div E

V�����DY@	� ^ M NQ��h���0

∇ ·E =
∂Ex

∂x
+
∂Ey

∂y
= 0 (2.47)

2 H v t � t ^ M NQ��}��10

∇ ·E =
∂Ex

∂x
+
∂Ey

∂y
=

ρ

ε0
(2.48)

2
Gauss

�����;��J 5 fFV�� \ q	� � t �;��b 2 =�7 \ ���


 P�Y ���
��&��*�

 P�Y ���
��&��*�	0

U =

∫

/����
ε0
2

E2dv (25)

�;� w X ] @ ��b 2 V�� w = ^ 
 P<Y 0 P lQ�����1�", > @?�	�	����� � ^ R 5 c 5 D��� I J���� � P<Q"5� =��
e t �"H s @��

U = −
∫

/����
ε0
2

E ·∇φdv =

∫

/!���
ε0
2
φ∇Edv (26)
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V��8���
b"b � ^

Gauss
�����;��J 5 fFV
H1�;� 2 ^ 
 P�Y ���
��&����	0

U =
1

2

∫

�������	��
 ρφdv (27)

2XP<Q�R�S :�< 2XP l���cQ��c 5 ��� ] 7�6%���
1/2
2 � G
�N<�0 ^

N � �Y[ P<Q ���;� 
 P �
��&��*��=

U =
1

2

N
∑

i=1

qi

N
∑

j=1

′
qj

|ri − rj|
=
1

2

N
∑

i=1

qiφi (28)

2
i ��� � P<Q 2 ^ � P<Q ������DQ� [���� P l

φi =
N
∑

j=1

′
qj

|ri − rj|
(29)

��cQ��� u � 1/2 � ��� v�w b 2 qC`��1DQ� x �Y�������

2.10 The Laplacian (
���a�������! 

)


 P�Y 0 P l���� �;q!"$# B ��%�G�VY� s wQx �Y��� v�w �

E = −gradφ = −(x̂∂φ
∂x

+ ŷ
∂φ

∂y
+ ẑ

∂φ

∂z
) (2.49)

Gauss
�����?E&%

divE =
∂Ex

∂x
+
∂Ey

∂y
+
∂Ez

∂z
(2.50)

��� v�w �Y� ^
divE = −div gradφ = −(∂

2φ

∂x2
+
∂2φ

∂y2
+
∂2φ

∂z2
) (2.51)

2 H;���
∇
2 = ∇ ·∇ =

∂2

∂x2
+

∂2

∂y2
+

∂2

∂z2
(2.53)

H;�&���! FV����a�'�����! ������"0
Laplacian(

���a��(!)+*
)
2 � G �b������! FV
H1�;� 2 ^ P l-,��.*/(+0 & 2XP<Q�R�S ��1"qN0

∇
2φ = − ρ

ε0
(2.54)

H;��:2�"= 3�3 � t �;���QbA@nV Poisson(
,4)657*

)
M78�@ 2:9<; �#%$S&(' )�+�,"-���0

∂2φ

∂x2
+
∂2φ

∂y2
+
∂2φ

∂z2
= − ρ

ε0
(2.55)
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2 H;���
2.5 ��� Q	P	5  qQE	� P l ,��.*2( 0 &��N[ P<Q ���8��7����!* P�Y � P l;����	�
�76��
�

(5th.pdf
�
(21)

@
)
��J 5 f�q
���YDQ�d��=

Poisson
M78�@��������

2.11 Laplace’s Equation (
���a���dM78�@

)

P<Q�R�S ����� � H"��T"U�� P l-,��.*/(+0 &;0�M78�@
∇
2φ = 0 (2.56)V � w D	�Qb���M�8�@%V

Laplace(
��� �'�

)
M78�@ 2 ��� ^

Laplace
M�8�@%V�� w D��%V

� u :�< 2 � G9�
� u :�<;q": � t ^ . ������H�y"z�=!����D����
“Laplace

M78�@FV�� w D��
φ(x, y, z)

�����Q����g����������"|�0
�Q��}�~"���
φ
��|;q

� � �"�
”

b��SyNz%V
FIGURE 2.18

��E%GIHY[ P<Q
q
2 P�R�q P�Q V�� � H"���"g

S(
}�~QV

O
^ K

L
a
2 DQ�

)
�;q�� . q P ���

q′
= 5� � t �����Nk�H7��� � U � � \ � t �QE%G �

�! �"g
S
��q PCQ

q′
= 5� � t � v t ��� P�Y Pdq I�J�� \ ] �;�"}S~ O \ ] R (> a)� ��"$#"� \ �d��q
%���H'&�(

W
0
O
q
q′
=���� 2 j�q��B� P�Y VSW1XY@��*)����Y�

W =
1

4πε0

q′

R
q (30)

�������
. q	[ P<Q q

���B� P<Y � T P ��g
S
VN}�~

O
=
q \ ] R

��g�h � � I J	� \ ],+ v t
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� �d��q
%���H'&�(
W ′
V���� t �QEnG9���g��Q� P<Q g R�S

σ
0

σ =
q′

4πa2
(31)

�������
q
� ���"g h"=

r
� �"g ���SJ�K�g�c

da
q�0

σda
��J�K P�Q =;�1���

q
=��8� PCY ��b��J�K�T"U���� P l%V

φq(r)
2(4 \ 2

W ′ =

∮

S

φq(r)σda =
q′

4πa2

∮

S

φq(r)da (32)

2 H�����b�� ���10
W
V�W�X wF2 j 2�-�� �������1� \ ] W ′ =W

qNH v t �NH s @��H ] H"�"�QE v t
1

4πa2

∮

S

φq(r)da =
1

4πε0

q

R
(33)

�������
��@;��{ ` 0

q
� �8�

S
����� P l

φq
�����N|���� % ^ � ` 0

q
���8� P l

φq
��}�~

O����|������Y� � w = v t q
���B� P l

φq
0 � u :Y<���y�z%V�� w � t �;��� x���� #

φq
0Y[ P�Q

q
� Y�	 V�
�� t Laplace

M/8�@����"���1�����C;;� P�Q�5  qN: � t x ��	
�7�6;� f z \ ] b���y"z�= 3�3 DQ��b 2 =�7 \ ���
b��SyNz�q;E	� 2 ^ HNq x HN��� 1Y��0 
 PCY q�E v t [ P�Q V�
Ny�H�� % ���Nq�0����b 2 =��nj�H"��b�EA="-�6%��������H ] ^�� �Y[ P�Q =�
"y�HN�]% �N����l���q���@�� ^
���"� P l10 ^ ��l���� P lBE %�����0  ����� = ^ b���EFG H P l"��0��"g<�;������|=��;��}S~��S|�q � � \ H��"b 2 0NHN� \ ] �1�1������
Ny�H��=% ����0�����D;� 2 � tx ^ 
Ny�H�� % ����0���� � HN���� <1�!�q�"$#�D;� PCY V�H�� t P�Q V�
Ny�q��1��b 20�%�&��������
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2.13 The Curl of a Vector Function (
6n7%'9&�:�<������

)

FIGURE 2.21(a)
��- � w EQG q ^

3 .�/ �!1�P������ m C
���1��6%7Q'p&�:�<

F (x, y, z)������m"c 5
Γ(
bA@nV
	�� 2 � G

)
VSW�XQ���

Γ =

∮

C

F · ds (2.58)

b"b �
ds
0
C
��� _ ["��� I J K�
�687%'9&��������

(b) C ��E%G q C
V 5�� � ^ 1"q�� � �����

B
V
� s�t ����� C1

2
C2
q�7 s ��� C1 ���	��

Γ1
2
C2
����	��

Γ2
� u = Γ

q � � �N�����;H ]
C1
^
C2 � q B

������mNc 5 V
���S= I$J K�
�6n7F'o&���i1j =����Nq��Qi�j�qNH��Y���

Γ1 +Γ2
��0
���?> @8� \ ] ������

∮

C

F · ds =

∮

C1

F · ds1 +
∮

C2

F · ds2 (34)

= 3�3 � t �;���5�� V���� � ^
Γ
V
(c) C �;EFG q N � ������m C1, · · · , Ci, · · · , CN

��� 	���� u � 4 \
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b 2 =��njN���
∮

C

F · ds =
N
∑

i=1

∮

Ci

F · ds (2.59)

b�� 5�� V���� t � s � I�J K���a8>����������;�SJ�K 	��;� I�J � � u 2 � t ^ C �;�	��N=�y � ��b 2 qNH���� _ �����;��� % ���Sg�c x I�J qYKn> \ H������ ^  �! V�6%7' &Q:Y<F��J�K ����g��F�Yg"c 5 2 J�K � ��gQ��� % � ��J1KNO�cF�����Ny�3 � wn2 j�FEnG qYJ1K � ��m��F��	�� 2 J�K � ��mF��� % � ��g"cF���Q��� J |8V�6B7n' &Q:Y<�����Q��y�3;q � w �"� � \ � ^ J�K�� �Sm Ci

qFE&%	� % � � @B� J�KNg�0�
Qi �����
����gNc���_nj">dV

ai
^ J�K�g;��k�l��"m%V

n̂
2 D�����b���i�jS0

Ci

qC` � t � ����=� �YM�i 2 DQ�
(FIGURE 2.22)

�

b��
� J qQE %9k�l�6n7F'o&
n̂
2 ��P�c"=�
 J q�H;� � w H	6%7%'o&;:�<"=Ny�3?> @8���bA@%V

F
��� � 2 E e ^ E*G

curl F
2 4 \o�

(curlF ) · n̂ = lim
ai→0

Γi
ai

= lim
ai→0

∮

Ci
F · dsi
ai

(2.61)

�
curl F

="y�3?>A@B���
curl

V
rot
2 4 \���� 4 x�� �N�k�l��"m�687F'9&

n̂
V

x̂
2 Dd@��

curl F
�
x
3"5 ^

ŷ
2 DY@��

curl F
�
y
3"5 ^

ẑ
2 D@��

curl F
�
z
3"5 =<� ] @B���

2.14 Stokes’s Theorem (Stokes
��y"z

)

� �Sm
C
qN:�DQ� 	��

Γ
=�K8>���	��

Γi
� u ��� w X ] @?��b 2 V�� w �

Γ =

∮

C

F · ds =
N
∑

i=1

Γi =
N
∑

i=1

ai
Γi
ai

(2.62)
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� ` >�?Q��,�@�0Yk;q
ai
V�� v�w�� � "�f��������

N →∞
�10 _

ai → 0
2 H;� = ^

i ��� �YK�	��%VSW1X���K�����k�l���m n̂i

V
H1�;� 2
Γi
ai
→ (curlF ) · n̂i (35)

����� \ ]�^ N →∞ ��� J �
N
∑

i=1

ai
Γi
ai

=
N
∑

i=1

ai(curlF ) · n̂i →
∫

S

da · curlF (2.63)

H;� gNc 5 V��8���FE v t�. ��y"z�= 3�3 D����
∮

C=∂S

F · ds =

∫

S

da · curlF (2.64)

<1
N��0FbA@nV
Stokes

��y"z 2 E!#"�1�;���

2.15 The Curl in Cartesian Coordinates (
#%$S&(' )�+�,"-����d6n7%'9&;:Y<������

)

curl F
� y<31q���� t n̂ = ẑ

2 � ^
(x, y, z)→ (x+∆x, y, z)→ (x+∆x, y+∆y)→ (x, y+

∆y, z) → (x, y, z)
H;� e�f��F�����

C = ¤(FIGURE 2.24, 2.25)
VSW�XQ� 2

(curlF )z
�

#%$S&(' )�+�,"-"=<� ] @B���
� X<� ^

(x, y, z)→ (x+∆x, y, z)
���10

ds = (dx, 0, 0) ��\ ]
∫

F · ds =

∫ x+∆x

x

Fx(x, y, z)dx ≈ Fx(x, y, z)∆x (36)

�������
b�� ` ��` `

(x+∆x, y +∆y)→ (x, y +∆y, z)
�10

∫

F · ds =

∫ x

x+∆x

Fx(x, y +∆y, z)dx ≈ −Fx(x, y +∆y, z)∆x (37)

�������
E v t ^ b�� 2

����� ` � u 0 y
)�+�q": � t � Taylor

!$#1V
H1� t
Fx(x, y, z)∆x− Fx(x, y +∆y, z)∆x ≈ −∂Fx(x, y, z)

∂y
∆y∆x (38)

2 ,B> @B���
(x+∆x, y, z)→ (x+∆x, y+∆y)

2
(x, y+∆y, z)→ (x, y, z)

��` ` � x
-5. q � t ^ mc 5�
 �
����=

Fy(x+∆x, y, z)∆y − Fy(x, y, z)∆y ≈ −
∂Fy(x, y, z)

∂x
∆x∆y (39)
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2 ,B> @B��b 2 =�7 \ �d�Y� ^ b���J�K�e�f ����������J�K�	���0
∮

¤

F · ds = ∆x∆y(
∂Fy
∂x
− ∂Fx

∂y
) (40)

2 H;�Y�
∆x∆y

0���m�=
z
Z1M;i���g���g"c ��\ ]�^ y�3;q������ t curl F

687%'9&F�
z
3"5 =

(curlF )z =
∂Fy
∂x
− ∂Fx

∂y
(41)

2 H;���
-�. q

x
^
y
M�iN��k�l�687%'9&nV

n̂
2"- y1DQ� 2

curlF = x̂(
∂Fz
∂y
− ∂Fy

∂z
) + ŷ(

∂Fx
∂z
− ∂Fz

∂y
) + x̂(

∂Fz
∂y
− ∂Fy

∂z
) =

∣

∣

∣

∣

∣

∣

x̂ ŷ ẑ
∂
∂x

∂
∂y

∂
∂z

Fx Fy Fz

∣

∣

∣

∣

∣

∣

(42)

2 #%$S&(' )�+�,"-��njN���
#%$S&(' )�+�,"-%V���@�� ^

curl
0
nabla

E*G;V
H1� t
curlF = ∇× F (43)

2(4 \ b 2 =��njN�d� x z����nj�E%G9�

2. 16 The Physical Meaning of the Curl (curl
���Nz !
���

)

curl
2
rot
0 -$� ���������Y�

Maxwell
0
rot
V � v�w ���7#
	/�;�
�
�1�10

rot
V�� v

t �;���
��� \ ]�� @���D��;� �
� � 5� :�<10�	��N=�� ����0NHN��� � \ � ^ 
 PCY �;EFG H������� Y ��0��������Q������m"c 5 0�� �S�������
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 P�Y ��0
curlE = 0 (2.75)=���b � xA3�3 DQ���

�Qq ^ �;b � x
curlE = 0

����@*� ^
E
0+��$	���N:Y<F�����

(
P lQ�����F�!"6# B �

� )
��� w X ] @B� 
 P�Y �����Y�

6?7B' &F:	<Qq�:"Dn�
Gauss

�Yy�z 2
Stokes

�Yy�z ^ ��$����N:	<%��� �BV
FIGURE

2.31
q � 2 � w �
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